E
<,
=
<
=

W..

12

12.1 W.. AM.. [Nm]

WF.7/AM..

WA.7/AM..

WAF.7/AM..

68395AXX

513

- GK2010




=
g
m
>
.
=

WHF.7/AM..

WT.7/AM..

WH.7/AM..

68394AXX

— GK2010

514




W

W.. AM.. [Nm]
12.1.1 W37
ne = 1400 1/min 110 Nm
i N2 Mamax Fra (@ (R) AM
[1/min] | [Nm] [N] ['] 63 71 80 90
3.20 438 70 2220 -
3.93 356 70 2410 -
5.1 274 70 2680 -
5.77 | 243 70 2810 -
6.97 | 201 70 3020 -
8.55 164 70 3270 -
9.92 | 141 70 3460 -
10.67 131 90 2880 -
11.65 | 120 70 3680 -
12.70 110 70 3800 -
13.89 101 90 3250 -
W37 15.67 89 90 3430 -
@% 2 18.94 74 90 3610 -
21.33 66 110 3320 -
23.25 60 90 3610 -
26.96 52 90 3610 -
27.78 50 110 3320 -
31.33 | 45 110 3320 -
31.67 | 44 90 3610 -
34.52 41 90 3610 -
37.88 37 110 3320 -
46.49 30 110 3320 -
53.92 26 110 3320 -
63.33 22 110 3320 -
69.05 20 110 3320 -
IEC s 63 71 80 90
W37 e 8.2 8.5 1" 1
NEMA - 56 143 145
W37 82 - 8.8 1" 11

WF: +0.0kg / WA: +0.0 kg /| WAF: +0.0 kg

- GK2010

515




516

AM.. [Nm]
12.1.2 W47
ne = 1400 1/min 180 Nm
i N2 Mamax Fra (@ (R) AM
[/min] [Nm] [N] ['] 63 71 80 90
327 428 110 2690 | -
380 360 110 2900 | -
440 318 110 3050 | -
523 268 110 3270 | -
558 251 110 3360 | -
653 214 110 3580 | -
732 191 110 3750 | -
861 163 110 4000 | -
996 141 110 4240 | -
1066 131 110 | 4350 -
1132 124 160 3500 -
1230 114 110 @ 4600 -
13.44 104 160 3810 -
1435 98 | 160 @ 3930 -
W47 1680 83 @ 160 4230 @ -
%% 2 1882 74 | 160 4460 | -
2215 63 | 160 4800 -
2507 56 | 180 @ 4490 @ -
2562 55 | 160 5130 -
2676 52 | 180 4640 -
2741 51 | 160 5280 @ -
3133 45 | 180 5010 | -
3162 44 | 160 5620 @ -
3500 40 | 180 5290 -
4130 34 180 5720 | -
4778 29 180 6110 | -
5112 27 | 180 6300 -
5898 24 | 180 6500 -
68.93 20 | 180 6500 -
7498 19 | 180 6500 @ -
m [kg] AM
IEC s 63 71 80 90 100 112 132S/M
W47 2 14 15 17 17 22 2 29
NEMA - 56 143 145 182 184 | 213/215
w47 282 - 15 17 17 21 21 26

WF: +0.5kg / WA: +-1.5kg / WAF: +-0.7 kg

— GK2010




3
S
<
=

12.2 W. AD.. [kW]

WF.7/AD..

WA.7/AD..

WAF.7/AD..

68396AXX

517

- GK2010




o
g
0
™~
<
=

WT.7/AD..

WHF.7/AD..

WH.7/AD..

68397AXX

— GK2010

518




W

W.. AD.. [KW] 12

i n M Pe Fra) F A Egl <<<<< [ m
s T N N . [kal
W37 AD.., n, = 1400 1/min 110 Nm
69.05 20 110 036 3320 555 - 5
63.33 22 10 039 3320 550 - ]
53.92 26 110 045 3320 545 - ]
46.49 30 10 051 3320 540 - ]
37.88 37 10 061 3320 525 - ]
34.52 41 90 048 3610 400 - ]
31.67 44 90 052 3610 395 - ] WF g; 231 :’,;
31.33 45 110 072 3320 505 - ] T 531
WA 37 AD1 7.7
27.78 50 110 080 3320 490 - ] WAF o Ay 1T
26.96 52 90 060 3610 380 - ] '
23.25 60 90 069 3610 365 - ]
21.33 66 110 10 3320 445 - ]
18.94 74 90 0.84 3610 335 - ]
15.67 89 90 10 3430 305 - ]
13.89 101 90 11 3250 280 - ]
12.70 10 70 091 3800 860 - ;
11.65 120 70 099 3680 830 - )
10.67 131 90 14 2880 1670 - }
9.92 141 70 12 3460 1540 - ) w37 AD2 89
8.55 164 70 13 3270 1530 - } WF 37 AD2 89 oo
6.97 201 70 16 3020 1510 - ) WA 37 AD2 89 L
5.77 243 70 20 2810 1490 - } WAF 37 AD2 89
5.11 274 70 22 2680 1480 - )
3.93 357 70 28 2410 1430 - }
3.20* 438 70 35 2220 1380 - )
W47 AD.., n, = 1400 1/min 180 Nm
74.98 19 180 052 6400 1490 - 5
68.93 20 180 056 6400 1480 - )
58.98 24 180 063 6400 1690 - ;
51.12 27 180 072 6230 1680 - ]
47.78 29 180 076 6040 1680 - } n
41.30 34 180 087 5650 1680 - ]
35.00 40 180 10 5230 1670 - }
31.62 44 160 091 5560 1590 - ]
31.33 45 180 11 4950 1670 - }
27.41 51 160 10 5220 1580 - ]
26.76 52 180 13 4580 1660 - }
25.62 55 160 11 5070 1580 - ]
25.07 56 180 14 4430 1650 - }
22.15 63 160 13 4750 1560 - ) W 47 AD2 15
18.82 74 160 15 4410 1560 - } WF 47 AD2 15 1 531
16.80 83 160 16 4180 1550 - ) WA 47 AD2 13 L
14.35 98 160 19 3880 1530 - } WAF 47 AD2 14
13.44 104 160 20 3760 1530 - ]
12.30 114 110 14 4550 1400 - }
11.32 124 160 24 3460 1500 - ]
10.66 131 110 16 4300 1390 - }
9.96 141 110 18 4190 1380 - ]
8.61 163 110 20 3960 1360 - }
7.32 191 110 24 3710 1340 - ]
6.53 214 110 26 3540 1320 - }
5.58 251 110 31 3320 1300 - ]
5.23 268 110 33 3240 1280 - }
4.40 318 110 39 3020 1240 - )
3.89 360 110 44 2860 1200 - }
3.27 429 110 52 2660 1140 - ]

— GK2010 519




W

W.. AM... (IEC) [mm]

12.3 W.. AM.. (IEC) [mm]

20 004 00 07
W37.. L
63 .95 144 Z5 102 102
I
S 4 116 18
s _
1 — ‘_% w| v [ %1 =
® © ol G| o — 1 ©
A= S el [y =
A J - $l o ! ? C;‘
' 1 (oY}
29 F5 24| ®
I
23| | ‘ 90 | 57
I
35] ] 107
70
91 C5 40
= 2 32 |4
() r=
@.\ o *é . |
n 7 3 T—F_|
5 N DIN332 | & {
=X al H=+ DR M6 “
L1
WA37B.. WH37B..
| 635 , 60.5 89 , 605
58 |25 58 |25
Fé%‘
= %
[ 1 o
L w 4
| L]l Q
o 1o
L
@ 25 H7 o 20 H7
DIN 6885-3
8 | 60.5 , 60.5 6 | 60.5 | 60.5 805 , 60.5
24 195
I $ 1
s T o tE-C T
mw & 7S B B}
@ 8 8 135}
1SO 4017 17 a N M
M10x25-8.8 105 29 25
o o
[aV] [aV]
[ (S}
(—>[1]130)| B5 c5 E5 F5 G5 L S5 z5 D1 L1 T U1
AM63 95 10 115 35 140 | 279 M8 72 11 23 12.8 4
AMT71 110 10 130 4.0 160 | 279 M8 72 14 30 16.3 5
AMS80 130 12 165 45 200 @ 313 M10 106 19 40 21.8 6
AM90 130 12 165 45 200 | 313 M10 106 24 50 27.3 8

520

— GK2010




W

W.. AM.. (IEC) [mm]
L
WE37.. 203 75
144 S r 4 58
- M 40
/ _f 6 ., 32 | 4
/ \ :E 1 ":!8 8 ‘ o1 ‘
AR % O C=F |
N E «©
©y \& "/ ] L &) S
< DIN332 ) | &
F5 DR M6 =
135 Cc5
o 160 8 40 _
Q) i
25 QZ_
TN 8 (]
‘ 1= OQ 83 > = o +E;~
| TSR N
L1
WAF37..
o 160
635 605 34.5
T
| o
o 25 H7 o 20 H7
DIN 6885-3
8_ 60.5 , 60.5 6, 60.5 , 60.5
T (o)
&) —— 1 g:{$ —— 1
o g‘ Io‘ gw
IS0 4017 17 CQ‘ ® IS0 4017 10 Sl s
M10x25-8.8 105 M6x16-8.8 105
(- [1130)] B5 c5 E5 F5 G5 L s5 z5 D1 L1 T U1
AM63 95 10 115 35 140 | 275 M8 72 1 23 12.8 4
AM71 110 10 130 | 4.0 160 | 275 M8 72 14 30 16.3 5
AMS0 130 12 165 = 45 200 | 309 @ M10 | 106 19 40 21.8 6
AM90 130 12 165 45 200 | 309 @ M10 | 106 24 50 27.3 8
— GK2010

521



522

L 20 019 00 07
WHF37..
203 75
144 S y 4
s _
/ _
RN =il o] w
w0 m| O
10 @ .
~| @ = A
(9N
“1 X v ] -
_IFs
c5
Qz £
A A
TN B
5 f N
= = =
R &+
A
L1
o 160
89 605, , 345
Lls
s
2t [ s|g
® | o
Q
805 , 60.5
24 195
s mgl
A =i
(o) o o
= Sl ®
29 25
o o
[aV] (o]
(S (S
(> [[J130)| B5 c5 E5 F5 G5 L S5 z5 D1 L1 T u1
AM63 95 10 15 35 | 140 275 M8 72 1 23 128 4
AM71 110 10 130 = 40 | 160 | 275 M8 72 14 30  16.3 5
AMS0 130 12 165 | 45 | 200 | 309  M10 106 19 40 | 218 6
AM90 130 12 165 | 45 = 200 309 | M10 106 24 50 @ 27.3 8

— GK2010




ISO 4017
M8x20-8.8

©
13
y r= Mol
Qz = -
[Tp)
N7~
»T1
35 L
= o =
\ 4}'
S ——
L1
WA37.. WH37..
63.5 |, 60.5 60.5
2.5
3 1L = L
S
@ 25 H7
DIN 6885-3
8 . 60.5 605 6 . 60.5  60.5 805 , 605
24 19.5
A _1
s T e
i A B )
S 8| ¢
1SO 4017 17 s % ’ S| ©
) =
(— 130) B5 C5 E5 F5 G5 L S5 z5 D1 L1 T1 U1
AM63 95 10 115 3.5 140 275 M8 72 11 23 12.8 4
AM71 110 10 130 4.0 160 275 M8 72 14 30 16.3 5
AMB80 130 12 165 45 200 309 M10 106 19 40 21.8 6
AM90 130 12 165 45 200 309 M10 106 24 50 27.3 8

- GK2010




W..
W.. AM.. (IEC) [mm]

18 ‘
20 021 00 07
J 5
o
58, =
T
= A L
— } § o
b,
: IS0 4017 B
& M8x20-8.8
ﬁ[
N
©
sl 4]
8]
5 I
= a —} =
N S 955 77
L1 19
N~
=] ~4— —
Q
166
89 71
28
]
i - J— # — |
T £ <
o o (V]
E : -
/Rz16 161 5
E —
gl &
gl s DIN509 F1x0.2
>
[ 28]
£
(> [1J130)| B5 c5 E5 F5 G5 L S5 Z5 D1 L1 T U1
AM63 95 10 115 35 140 275 M8 72 11 23 12.8 4
AMT71 110 10 130 4.0 160 275 M8 72 14 30 16.3 5
AM80 130 12 165 45 200 309 | M10 106 19 40 218 6
AM90 130 12 165 45 200 309 | M10 106 24 50 273 8

524 — GK2010




) 20 077 00 08
W47..
80 .5 181 z5 130, 130
y 4 135 21
o T1& =
8| & 1 [ =]
§ B —— — I 4 T ] =
L <@ (I N
. T ©
- 1% o = S
F5 ° la0| ©
100 |l 80
I
120
c5 60
_ 8 50 |35
) =
Qz —= |
\ 8 4 ™
d O =
5 X 8 DIN332 ) | B
= a E} DR M10 <
e I
L1
WA47B.. WH47B..
73 70 105 70
675 |25 67.5 |25
T~ T~
ammk amnk
I I - ENal S (< N N O =
T SRS ARl
ol 1o ol 1o
8 70, 70 9% , 70
.3 20
™ & 1
3% BT FE 1|
= T ;ﬁ R
3 < S =1
ISO 4017 17 sl ® @ al
M10x25-8.8 122 36 25
o o
(5] (5]
Q [\
(> [J130) B5 c5 E5 F5 G5 L S5 Z5 D1 L1 T u1
AM63 95 10 115 3.5 140 279 M8 72 11 23 12.8 4
AM71 110 10 130 4.0 160 279 M8 72 14 30 16.3 5
AMS0 130 12 165 45 200 313 | M10 106 19 40 218 6
AM90 130 12 165 45 200 313 | M10 106 24 50 27.3 8

- GK2010

12

525



W..
W.. AM.. (IEC) [mm]

WF47.. L o5 4 20 078 00 08
260 Z5 10 ,, 60
29 181 Y 4 35!

g 160
¢
?

I\ &8 8 L— I
8 ) — —] ©
. [o>) ‘ ? — ‘ < =
~ X A S
o
5 °
5
Qz ¢
N 9 60
N7
L j 8 50 |35
5 ! |
- a # == b4 &% —
\ |
| =
L1 DIN332 ) |B
DR M10 =
WAF47.. WHF47..
78,70, 35 105 , 70 ,, 35
\ \
I S I O o
| ° © | °
9% , 70
8 70, 70 31 20
2T — = il
e B REasEee |
T = o
o (e} <
1SO 4017 17 © 8|3
M10x25-8.8 199 36 25
o =
o o
o (S
(—>[1)130)| B5 c5 E5 F5 G5 L S5 Z5 D1 L1 T U1
AM63 95 10 115 35 140 275 M8 72 11 23 12.8 4
AM71 110 10 130 4.0 160 275 M8 72 14 30 16.3 5
AMS80 130 12 165 45 200 309 | M10 106 19 40 21.8 6
AM90 130 12 165 45 200 309 | M10 106 24 50 273 8

526 — GK2010




WA47.. o W
L [ 1] L 1] ‘ 67.5 6
= =4
675, =
|
=
\
@ y 4 ]
e [T
T N/
5 ||
- P =N
\ +
s
L1
WA47.. WH47..
73 70 105, 70
28 N EL
| |
= N S I e R +
o
\ \
8 70 70 9% , 70
L3 20
™ i = ]
3 B d | FEoETT ]
E 5 ] 1
8 2 S =14
ISO 4017 17 al = a sl ®
M10x25-8.8 199 36 25
s o
o (3]
IS [\
(— 130) B5 C5 E5 F5 G5 L S5 z5 D1 L1 T U1
AM63 95 10 115 3.5 140 275 M8 72 11 23 12.8 4
AM71 110 10 130 4.0 160 275 M8 72 14 30 16.3 5
AMS80 130 12 165 4.5 200 309 M10 106 19 40 21.8 6
AM9I0 130 12 165 4.5 200 309 M10 106 24 50 27.3 8
- GK2010

527



W..
W.. AM.. (IEC) [mm]

20 080 00 08
WT47..
WIIITII 67.5 6
21 f@v 675
L
260 Z5 =
181 3 4 675, =
® %7,
/
=~
=i ol o |
O - || 20| & | — S
> i |
'\ L
‘ ‘ F5
7D
5
C5
@ Y £
N8t A
M
5 []
= a +E}~~ 109 86.5
A\
e
L1
\
<8 S I e R
S =
\
190.5 &
104 81
34 81
| — # N |
5 = -
o o [2p]
/Rz16 1855
(o)
gl &
g| s DIN509 F1x0.2
o =
1S
(—»[J130)| B5 c5 E5 F5 G5 L S5 z5 D1 L1 T u1
AM63 95 10 115 3.5 140 275 M8 72 11 23 12.8 4
AM71 110 10 130 4.0 160 275 M8 72 14 30 16.3 5
AMS0 130 12 165 45 200 309 | M10 106 19 40 218 6
AM90 130 12 165 45 200 309 | M10 106 24 50 27.3 8

528

— GK2010




W..
W.. AM.. (NEMA) [mm]

12

12.4 W.. AM.. (NEMA) [mm]

20 007 00 07
z5 i 12 L5
Q) Y
=\
M ﬁ
) S
o x> —
712
L1

B5 C5 E5 F5 G2 G5 12 LS S5 z5 | 212 D1 L1 ™ U1
AM56 1 52.55  -4.8 93.5 | 16.5 15875 | 47.75 181
W..37 AM143 114.3 12 149.2 45 | 120 170 541 | 3.05 10.5 17 145 22225 5715 247 4.76
AM145
AM56 1 52.55  -4.8 87 16.5  15.875 | 47.75 | 18.1
W.47 :m::z 4.3 12 1492 | 4.5 1 160 | 170 541 | 3.05 105 110.5 | 145 | 22.225 5715 | 24.7 4.16

— GK2010 529




530

20 009 00 07

QY &
N
T
5 N
L Lo
o N j — m
z@§ 212 A
F5
L1
79
75 - C5
Qz e
y 4 N
1 T1
—1 ©
g
- ) N j
w0
a4 (D | ——
— N —
5 o 212 5
F5
L1
B5 C5 E5 F5 G2 G5 S5 We 25 | 20 | z12 | D1 | L1 | T | Ut
ARTA 110 10 130 35 160 M8 104 14 30 163 5
W.37  ARSO 120 120 37 0 19 40 218 6
Aea 130 12 165 45 200 M10 140.5 e o2t
ARTA 110 10 130 35 160 M8 104 14 30 163 5
W.47  ARSO 160 120 37 0 19 40 218 6
AReg 130 12 165 45 200 M10 134 b wasg

— GK2010




W

W.. AD.. [mm]
12.6 W.. AD.. [mm]
20010 01 07
w.. ADII
K2 L1
U1 L14 | L13
N - %
(O Ll I
a a
DIN 332
DR ..
G2 K2 D1 L1 L13 L14 T1 U1
AD1 102 16 40 4 32 18 5
W..37 AD2 120 _ 130 19 40 4 32 _ 21.5 6
W..47 AD2 160 123 19 40 4 32 21.5 6
- GK2010

531




	1 Introduction
	1.1 The SEW-EURODRIVE Group of Companies
	1.2 Products and systems from SEW-EURODRIVE
	1.3 Additional documentation
	1.4 Copyright

	2 Product Description of the Gear Units
	2.1 General information
	2.2 Surface protection
	2.3 Extended storage
	2.4 Explosion protection according to ATEX
	2.5 Components on the input side

	3 Overview of Types and Type Designation
	3.1 Product variants and options
	3.2 Type designation
	3.3 Gear unit nameplate
	3.4 Overview of gear units

	4 Project Planning Information
	4.1 Drive and gear unit selection data
	4.2 Project planning procedure
	4.3 Project planning information
	4.4 Project planning for components on the input side
	4.5 RM gear units
	4.6 Additional documentation

	5 Mounting Positions
	5.1 General information on the mounting positions
	5.2 Order information for gear units
	5.3 Key to the mounting position sheets
	5.4 Mounting positions of helical gear units
	5.5 Mounting positions of parallel shaft helical gear units
	5.6 Mounting positions of helical-bevel gearmotors
	5.7 Mounting positions of helical-worm gear units
	5.8 Mounting positions of SPIROPLAN® gear units" W/WA..B/WH37B-47B

	6 Design and Operating Notes
	6.1 Lubricants and fill quantities
	6.2 Reduced backlash gear unit types
	6.3 Installation/removal of gear units with hollow shaft and key
	6.4 Gear units with hollow shaft
	6.5 TorqLOC® hollow shaft mounting system for gear units with hollow shaft
	6.6 Fastening the gear unit
	6.7 Torque arms
	6.8 Flange contours of RF.. and R..F gear units
	6.9 Flange contours of FF.., KF.., SF.. and WF.. gear units
	6.10 Flange contours of FAF.., KAF.., SAF.. and WAF.. gear units
	6.11 Fixed covers
	6.12 Condition monitoring: Oil aging and vibration sensor

	7 Important Information on Selection Tables and Dimension Sheets
	7.1 Information on selection tables
	7.2 Notes on the dimension sheets
	7.3 Gear unit (gearmotor) dimensions

	8 R..
	8.1 R(X).. AM.. [Nm]
	8.2 R.. AT.. [Nm]
	8.3 R(X).. AD.. [kW]
	8.4 R.. AM.. (IEC) [mm]
	8.5 R.. AM.. (NEMA) [mm]
	8.6 R.. AR.. [mm]
	8.7 R.. AT.. [mm]
	8.8 R.. AT../BMG [mm]
	8.9 R.. AD.. [mm]
	8.10 R.. AD../P [mm]

	9 F..
	9.1 F.. AM.. [Nm]
	9.2 F.. AT..
	9.3 F.. AD.. [kW]
	9.4 F.. AM.. (IEC) [mm]
	9.5 F.. AM.. (NEMA) [mm]
	9.6 F.. AR.. [mm]
	9.7 F.. AT.. [mm]
	9.8 F.. AT../BMG [mm]
	9.9 F.. AD.. [mm]
	9.10 F.. AD../P [mm]

	10 K..
	10.1 K.. AM.. [Nm]
	10.2 K.. AT..
	10.3 K.. AD.. [kW]
	10.4 K.. AM.. (IEC) [mm]
	10.5 K.. AM.. (NEMA) [mm]
	10.6 K.. AR.. [mm]
	10.7 K.. AT.. [mm]
	10.8 K.. AT../BM(G) [mm]
	10.9 K.. AD.. [mm]
	10.10 K.. AD../P [mm

	11 S..
	11.1 S.. AM.. [Nm]
	11.2 S.. AT..
	11.3 S.. AD.. [Nm]
	11.4 S.. AM.. (IEC) [mm]
	11.5 S.. AM.. (NEMA) [mm]
	11.6 S.. AR.. [mm]
	11.7 S.. AT.. [mm]
	11.8 S.. AT../BM(G) [mm]
	11.9 S.. AD.. [mm]
	11.10 S.. AD../P [mm]
	11.11 S, SF, SA, SAF 37
	11.12 S, SF, SA, SAF 47
	11.13 S, SF, SA, SAF 57
	11.14 S, SF, SA, SAF 67
	11.15 S, SF, SA, SAF 77
	11.16 S, SF, SA, SAF 87
	11.17 S, SF, SA, SAF 97

	12 W..
	12.1 W.. AM.. [Nm]
	12.2 W.. AD.. [kW]
	12.3 W.. AM.. (IEC) [mm]
	12.4 W.. AM.. (NEMA) [mm]
	12.5 W.. AR.. [mm]
	12.6 W.. AD.. [mm]

	13 Abbreviation Key
	14 Address Directory
	15 Index

